KANSAS CORPORATION COMMISSION OR GIVE September 1999 WELL COMPLETION FORM

WELL COMPLETION FORM

1100

WELL HISTORY - DESCI	RIPTION OF WELL & LEASE 130' E of
Operator Ucense # 5214	API No. 15 - 095-22108 - 00 - 00
Name: Lario Oil & Gas Company	County: Kingman
Address: 301 S. Market	
City/State/Zip: Wichita, KS 67202	660 feet from S / N (circle one) Line of Section
Purchaser: Plains Marketing	530 feet from E/ W (circle one) Line of Section
Operator Contact Person: Jay G. Schweikert	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 265-5611	(circle one) (NE) SE NW SW
Contractor: Name: Southwind Drilling	Lease Name: Clouse 'G' Well #: 4-15
License: 33350	Field Name: Bickel
Wellsite Geologist: Vem Schrag	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1482' Kelly Bushing: 1491'
New Well Re-Entry Workover	Total Depth: 4230' Plug Back Total Depth: 4153'
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan ALLING 3-12-05 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 18,000 ppm Fluid volume 775 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.;
6-18-07 6-28-07 8-23-07 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, works Information of side two of this form will be held confidential for a period of	ith the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-gs and geologist well report shall be attached with this form. ALL CEMENTING IIs. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
Signature: Your Sumulation	KCC Office Use ONLY
Title: Jay G. Schweikert, Operations/Engineer Date: 10/17	Letter of Confidentiality Received
Subscribed and sworn to before me this 17th day of	If Denied, Yes Date:
07 LLL KATHY L. FORD J	Wireline Log Received RECEIVED
20 Notary Public - State of Kansas My Appt. Expires 10 - 22 - 10	Geologist Report Receives AS CORPORATION COMMISSION
Notary Public:	UIC Distribution OCT 1 8 2007
Date Commission Expires: 10-22-10	2007

Side Two

Operator Name:	Lario Oil & G	as Compar	ıy	Leas	e Name:_	Clouse 'G'		_ Well #:4-1	5	ş
Sec. 15 Twp. 2		East	✓ West	Coun	1/:					
INSTRUCTIONS: S tested, time tool ope temperature, fluid re Electric Wireline Log	n and closed, flowing covery, and flow rate	g and shut-i s if gas to s	n pressures, urface test, a	whether : long with	shut-in pre	essure reached	static level, hydro	static pressur	es, botto	om hole
Drill Stem Tests Take		✓ Ye	s 🗌 No		⊘ L	og Formatio	on (Top), Depth a	ind Datum		Sample
Samples Sent to Ge	ological Survey	✓ Ye:	s 🗌 No		Nam Heeb	=		Top 2844		Datum -1353
Cores Taken		☐ Ye:	s √ No		Lans			3103		-1612
Electric Log Run (Submit Copy)		✓ Ye	s 🗌 No			Shale		3481		-1990
List All E. Logs Run:						puckney		3518		-2027
•					Pawr			3681		-2190
GR/CNL/SSE)/DIL/BCS/ME	L				issippian erhook		3866 4156		-2375 -2665
		Report	CASING all strings set-c			ew Used	ion, etc.			
Purpose of String	Size Hole Drilled		Casing In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent Additives
Surface	12 1/4"	8 5/8"	III O.D.)	23#	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	252'	60/40 Poz	190	 	, 2% gel
Production	7 7/8"	5 1/2"		15.5#		4198'	H cmt	190	10% g	yp, .70 GB,
									5# KS	, 5% FL-160,
			ADDITIONAL	CEMENT	TING / SQL	JEEZE RECORD			10# s	alt
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре с	of Cement	#Sack	ks Used		Type and F	ercent Additives		
						L				
Shots Per Foot) - Bridge Plug ach Interval Per		e		cture, Shot, Cement nount and Kind of Ma		d	Depth
6	3872'-82'					790 bbls x-link	ed gel, 36,000 s	cf of N2 + 4,5	00#	3872'-82'
						100 mesh + 46	5,000# 16/30 + 1	2,000# 16/30	CRC	
·										
TUBING RECORD	Size	Set At		Packer	At	Liner Run				
105.1101.12001.15	2 3/8"	3838'		r donor	, u	_	Yes ✓ No			
Date of First, Resumer 8-24-07	d Production, SWD or E	inhr.	Producing Meth	nod	Flowing	g 📝 Pumpir	ng Gas Lif	t Oth	e r (Explair	1)
Estimated Production Per 24 Hours	Oil 8	Bbls.	Gas 40	Mcf	Wate	er Bl		as-Oil Ratio		Gravity 36
Disposition of Gas	METHOD OF (COMPLETION				Production Inter				
Vented ✓ Sold (If vented, So	Used on Lease ubmit ACO-18.)	[Open Hole Other (Speci	√ Pe	rf. 🔲 🛭	Oually Comp.	Commingled			



Pratt

LARIO OIL & GAS

PO BOX 307

KINGMAN

KS

67068

ATTN:

PAGE

1 of 1

CUST NO

1970-LAR004A

INVOICE DATE 06/21/2007

INVOICE NUMBER

1970000451

LEASE NAME

Clouse "G"

WELL NO.

4-15 (AFE#07-083)

COUNTY

Kingman

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB#	EQUIPMENT #	PURCHASE C	RDER NO.		TERMS	DUE DATE 07/21/2007
1970-00454	301				Net 30 DAYS	
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Da	ntes: 06/19/2007 t	o 06/19/2007				
1970-00454		į				
1970-16222 Pump Charge-l	Cement-New Well C	asing 6/19/07	1.00	Hour	924.000	924.00
Casing Cen Cementing Hea	nent Pumper	20	1.00	EA	250.000	250.00
Cement He Cement Float E	<i>ad Rental</i> Equipment		1.00	EA	88.900	88.90
Wooden Ce Mileage			190.00	DH	1.500	285.00
Mileage	rvice Charge	Mr. Rec	100.00	DH	5.000	500.00
<i>Heavy Veh</i> Mileage	•	N;	410.00	DH	1.600	656.00
Pickup	nd Bulk Delivery		50.00	Hour	3.000	150.00
Additives	o or Van Mileage		47.00	EA	3.700	173.90
Cellflake Calcium Chlori Cement			492.00 190.00		1.000 10.710	492.00 2,034.90
60/40 POZ Supervisor			1.00	Hour	150.000	150.00
Service Su	μ <i>σι</i> νισυι		Aora Emp	IN 27	OK TO THE	BS 6-25-07 CEIVED CRATION COMMISSION -912.75

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

BID DISCOUNT SUBTOTAL TAX

OCT 1 8 2007^{4,791.95}

INVOICE TOTAL CONSERVATION DIVE 1912.18 WICHITA, KS

JE	?ts	5tz	31	Sut	bject to Correctio	•п	FIELD	ORI	DER 1	622	22°
ENER	GY S	ERVIC	RS.	Lease (ouse	6	Well # L	15	195-2	85	-6W
Date _ 9	-07	Customer ID		County	naman		State T C	5.	Station PY	att	
<u>c</u> Lari	o Oil ai	nd Gas	Compan	Depth	Form			St	noe Joint /	5 F	eet
н <u>—</u> А				19 8 mg/8	a deasing D	752A	255	FHE	Type /	- Si	urface
R G					presentative Vavne	Tresno			nce R.	Me	ssick
E			<u>·</u>			/		-,			
AFE Number		PO Number		Materials Received by	X Jun	ane	Thes	w		<u> </u>	DLS
Station Code	Product Code	QUANTITY		MATERIALS, E	EQUIPMENT, and	SERVICES US	ED		UNIT PRICE	+	AMOUNT
Ρ	D203	190sk.	60/40) <u>Poz</u>) 			. من	- 4	[a]	034.90
<u> </u>											
Ρ	C 194	47Lb.	Cellfil	a re				-	_ 9		3.90
9	C310	492Lb	Calciu	om Ch	loride	2			q	40	12.00
P	F163	lea.	Woode	n Cel	ment	Plua.	85/8"	_		88	3.90
•				•							
P	E100	100 Mi	Heavy	Vehic	cle Mi	leage	2,1-W	'ay		50	00.00
P	E 101	50mi	Pickup		eage,	- Way	,	,	\$		0.00
D'	E104	410tm.	BUILD	elive	, ,	1			4	, 65	6.00
' P 	E107	190 sk			rvice	Chara	· e		\$	28	5.00
P'	E 891	leg.	Servi						4	15	0.00
		1	0 0 7 7 7								
P	R200	lea.	Cement	+ Pumr	per: C	F+ To	3001	-+.	4	, 9	24.00
P	R701	1eq.	Cemen						d		50.00
	11 701	91.	Comici	1 11-01	<u> </u>	<u> </u>			<u>~</u>	7	
											
			Discour	ntedf	Price =	····			4	14	79195
			Pluc	11 44 1	Price =					' 11	1 11.19
			1 105 1	4163						+	
	,										
										<u> </u>	
									RECEN	NHD	
								KANSA	S CORPORATION	DICOMM	IISSION
					·				OCT 18	2007	
									ONSERVATION		 N
									WICHITA	, KS	·
10244 N	E Hiway 61	P.O. Box 86	13 • Pratt, KS 6	7124-8613	• (620) 672-1	201 • Fax (620) 672-53	883	TOTAL		
			•						Ta	ylor Printing	g, Inc. 620-672-3656



TREATMENT REPORT

Customer	0110	and G	as Con	ease No.	1 V				Date	7	1.0	7	
Lease C	ouse	11 / 11		/ell# [1	-15)			(\mathcal{I}	-1	1-1)	
Field Order	Station	Prat	+	2 2 4		3 sind	23 Pepth	252	County	Kir	1gma	n	State 5.
Type' Job	5. N. W.	<u>- Su</u>	rface	2			Formation	1			Legal De	scription _ (5 W
PIP	E DATA	PER	FORATING	DATA	cent	- FAMB4	USED		TI	REAT		RESUME	
Casing Size	2 Bibling Siz	ze / Shots/f	Ft		A Card	90	sacks	601	ATE D	PRES	S 1/	/ISIPL)	% (Je
愛野 2 F	e Depth	From	То		er er	3	&C.C.	$\frac{Max}{3}$	Th	15	r ()	5 Min f a	1
Volume 3	Volume	From	To		Rad		,	Min				10 Min.	
M8689		From	То	1.	Figs			Avg				15 Min.	-
	Ton Annulus V		То					HHP Used				Annulus Pres	ssure
Phys Beeth F	661	pth From	То		Flush	5.7	2 Bb1.	Gas Yolum	A Wa	ite	r	Total Load	
Customer Re	presentative	lyne]	resner	Station	Manage	Da	vid Sc	ott	Treate	Tre	nce	R. Me	śsich
Service Units	19,870	19,903	14.863								udiajug -		
Names /	Casing	<u>Mattal</u> Tubing	LaChan	ce_				-					
	Pressure	Pressure	Bbls. Pum	ped	Rate					Service			
2:45		·	Iruch	4.4.			on and						· Mr
3:45			South	Win	nd D	rill	ing Sta	art to	ruy	16	15 n	ew 23	Lb./Ft.
11.110			85/81		sing				···				
4:40				<u> </u>	<u>-9511</u>	gin	well. C	ircula	tewi	thr	<u>ig 5</u>		utes.
4:47	300				<u>5</u>		Star				erp		vsh.
-	300		10		5		Start		,				Pozent.
			52					DUMPI					
5:05	200				4		Relea	se plu	<u>10, C</u>	<u> </u>	n We	1.	
5:15	200:		15			· ·			on U	/at	er Di	splace	ment.
J.15	300		1)				- 1	own.			inu		
							Circul					nt top	it
5:00						,		up pu	3	<u>t (u</u>	clt.		
7.00		-					I	OMP	<u> 6 1 6</u>	<u>i </u>		-	 .
					·		Inan		11.	#	1 1		
	.						Clarer	rce, M	itte	75	repn	en '	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
									- 1				
		. '						in the second	1.0		RI	ECEIVED	
								<u>Kali</u>		YA	NSAS CORI	PORATION COM	MISSION
											OCI	r 1 8 2007	
												RVATION DIVISION	
												VICHITA, KS	



JetStar / Acid Services Division P.O. Box 8613 Pratt KS 67124 Phone (620) 672-1201 Fax (620) 672-7019

As of March 7, 2007 BASiC Energy Services has purchased JetStar Energy Services / Acid Services LLC.

We would like to thank you for being one of our valued customers and would appreciate if you would let your accounts payable department know the new remittance address is:

BASiC Energy Services, LP P.O. Box 841903 Dallas TX 75284-1903

Thank you for your cooperation in this matter. If you have any questions or need any additional information please call the BASiC Energy billing office in Pratt KS at (620) 672-1201.

RECEIVED KANSAS CORPORATION COMMISSION

OCT 18 2007

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Lario Oil & Gas Co. P. O. Box 307 Kingman, KS 67068

INVOICE

Invoice Number: 109015
Invoice Date: Jul 3, 2007

1

Page:



Customer ID.	Well Name# or Customer P.O.	Paymen	t Terms
Lario	Clouse "G" #4	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
AFE 07-083	Medicine Lodge	Jul 3, 2007	8/2/07

Quantity	Item	Description	Unit Price	Amount
30.00	MAT	Common	11.10	333.00
20.00	MAT	Pozmix	6.20	124.00
2.00	MAT	Gel	16.65	33.30
48.00	MAT	Defoamer	7.20	345.60
12.00	MAT	Cla Pro	25.00	300.00
17.00	MAT	Sodium Metasilicate	1.95	33.15
190.00	MAT	Class H	13.40	2,546.00
18.00	MAT	Gyp Seal	23.35	420.30
21.00	MAT	Salt	9.60	201.60
950.00	MAT	Kol Seal	0.70	665.00
89.00	MAT	FL-160	10.65	947.85
125.00	MAT	Gas Block	8.90	1,112.50
500.00	MAT	Mud Clean	1.00	500.00
304.00	SER	Handling	1.90	577.60
40.00	SER	Mileage 304 sx @.09 per sk per mi	27.36	1,094.40
1.00	SER	Production Casing	1,675.00	1,675.00
40.00	SER	Mileage	6.00	240.00
1.00	SER	Head Rental	100.00	100.00
1.00	EQP	Guide Shoe	160.00	160.00
1.00	EQP	AFU Insert	250.00	250.00
1.00	EQP	Top Rubber Plug	65.00	65.00
	DE MET DAMAD	Subtotal		Continued

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

- Aug 2¦ 2007.₩

1	
Subtotal	Continued
Sales Tax	Continued
Total Invoice Amount	Continued
Payment/Credit Applied	
TOTAL	Continued.

RECEIVED KANSAS CORPORATION COMMISSION

OCT 18 2007

CONSERVATION DIVISION WICHITA, KS



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

Lario Oil & Gas Co. P. O. Box 307 Kingman, KS 67068



INVOICE

Invoice Number: 109015
Invoice Date: Jul 3, 2007

Page: 2

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Lario	Clouse "G" #4	Net 30	Days
Sales Rep ID	Camp Location	Service Date	Due Date
	Medicine Lodge	Jul 3, 2007	8/2/07

Quantity	Item	Description	Unit Price	Amount
	EQP	Centralizers Acci. Em. Fig. Jul. 11 2007	50.00	300.00 7-9-07
ALL 50/050 AL	RE NET, PAYABI	F Subtotal		12,024.30

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1202.43

ONLY IF PAID ON OR BEFORE

Aug 2, 2007

Subtotal	12,024.30
Sales Tax	441.88
Total Invoice Amount	12,466.18
Payment/Credit Applied	
TOTAL	12,466.18

RECEIVED KANSAS CORPORATION COMMISSION

OCT 18 2007

CONSERVATION DIVISION WICHITA, K\$

ALLIED CEMENTING CO., INC. 31065

REMIT TO P.O. BORUSSI	OX 31 ELL, KANS	SAS 676	65		S	SERVICE POINT:	elege, ES
DATE 285~07	SEC.	TWP. 285	RANGE 0.5	CALLED OUT	ON LOCATION OF THE PROPERTY OF	ON JOB START M 1 * OO Pm	JOB FINISH 2:00Pm
		!	USE	1 a KS 17 Jet.	-11 111	COUNTY	STATE
OLD OR NEW (Cir	WELL#		LOCATION 2	1 4 1 1 Juf.,	245,14	E, Kingman	<u> </u>
OLD OIR NEW (CII	- cie one)		Sfinto		 		
CONTRACTOR	South		<i>#</i> 2	OWNER	Laxio D	il & 905	
TYPE OF JOB PA	es duction		ing				,
HOLE SIZE 7	9	T.D		CEMENT	onenen E	1 n. 4 n. 40:4	1. 4.1 01.
CASING SIZE 57 TUBING SIZE	2		<u>PTH 9/98</u> PTH	AMOUNT C <i>MetaSilient</i> i	RDERED 30	1 sx 60:40:4	To la Joden
DRILL PIPE			PTH PTH		5% FU 10 +	5x H + 10% 9 7	AND 50000
TOOL			PTH	mud Clean	HUD 12 gals	KCL	11.42 3 0 0 92
PRES. MAX / 2	.00		NIMUM —	COMMON_	30 1	<u> </u>	_333.00
MEAS. LINE	000 110		oe joint <i>44. §</i>	POZMIX _	<u> 20</u>	<u> </u>	124.00
CEMENT LEFT IN PERFS.	CSG. 45)		GEL _	De Canada	<u> </u>	3.3,30
DISPLACEMENT	99/2	BUL	2% KCIWA	ten ASC CIA	Deformer Pro 12	<u> </u>	345,60 300,00
		PMENT			Metasilica		_33.15
	2201			190 *	H "	@ 13,40	2546.00
PUMP TRUCK (CEMENTE	R D. F	-elio	— <u>Gys</u>	ral. 18	<u></u> @ <u>.23.35</u>	420.30
# 37 2 I	HELPER <i>D</i>	Fran	Alin	$\frac{-1.5a}{V0.15}$	eal 95	<u> </u>	201,60
BULK TRUCK		- 1a		FL-16		<u>0 -0 -70 - 70 - 9 - 9 - 9 - 9 - 9 - 9 - 9 - 9 - 9 - </u>	940.85
	DRIVER S	. Kra	mer	- GAST	BOCK 125	8.90	1112.50
BULK TRUCK # I	ORIVER			Merd CI	ean 500	e 1.00	500,00
	JKI V LIK			HANDLING	304° 40×30	@ <u>1.90</u> 94 × 09	577.60
Cement, Mix 190	0:40:4+	4%5n	15, Pump 25 5 it, Stop Pump	x Savager , Ubsh		TOTAL RVICE	. 9234.30
Pump flines, Re KCL water. Sec	- incolor		4'A PSI. 5	•	ЮВ <u>4198</u> СК CHARGE _		11.7500
Rate, Slow	Rate A.		A		_	@	16.13100
99 h Bbls to	tal Ding	., Rel.	ease PSE, FI	MILEAGE_		@6,00	240.00
V. I Hold				— MANIFOLD	hendrenta	(<u> </u>	100.00
				******		@	
CHARGE TO: La		7 4 2	- ((A		@	· · · · · · · · · · · · · · · · · · ·
	446 01	1 4 9	w.			ТОТАІ	2015.00
STREET						IOIAL	
CITY	STAT	ГЕ	ZIP		DV VIC O EV	0.15.5011151.601	7 m
AFE 07	'-083			and the second s	PLUG & FL	OAT EQUIPMEN	N'I'
<i>/// /-</i>			_ , , "	1-Guide	Shoe	<u> </u>	160,00
			5/2	1- AFU	insent	<u> </u>	0 250.00
To Allied Cement	ing Co., In	c.		1- TRP) L /	@65.00	
You are hereby re-	quested to	rent cer		nt 6-cent	Rolizeds	@. <i>50.00</i> @	300,00
and furnish cemer		~		A 44 50mm a			
				as ANY APPLIC		Х	775.00
done to satisfactio contractor. I have	-		_	44 4000000	— — — —	IOIAL	
CONDITIONS" li				ND UPON IN	VUICING		
	LUCA OII UII	- 101010	- 5140.	TOTAL CHA	NRGE		स्था र्थ
				DISCOUNT		IF PA	D IN 30 DAYS
SIGNATURE	Chara	fort.					

PRINTED NAME